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1. ABCO86A - Product
ABCO86A DR T*5

import Control.Monad
import Data.Maybe
import qualified Data.ByteString.Char8 as BS

readInt = fst . fromJust . BS.readInt
readIntList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine

main = do
[a, b] <- getIntList
putStrln $ ["Even", "0dd"] !! (a * b ‘mod‘ 2)

*1 https://twitter.com/unnohideyuki

*2 nttps://qiita.com/advent-calendar/2019/haskell
*3 https://atcoder. jp/

*4 https://atcoder. jp/contests/abs

*5 https://atcoder. jp/contests/abs/tasks/abc086_a



2. ABCO81A - Placing Marbles
ABCOS1A M0

import qualified Data.ByteString.Char8 as BS

main = do
s <- BS.getLine
print . BS.length . BS.filter (== ’1’) $§ s

3. ABC081B - Shift only
ABCO081B D7

import Control.Monad

import Data.Bits

import qualified Data.ByteString.Char8 as BS
import Data.List

import Data.Maybe

readInt = fst . fromJust . BS.readInt
readIntList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntlList <$> BS.getLine

main = do
n <- getlnt
as <- getlIntlist
print . minimum . map f $ as
where

fx | x .& 1 ==

0
1+ f (x ‘shiftR‘ 1)

| otherwise

*6 https://atcoder. jp/contests/abs/tasks/abc081_a
*7 nttps://atcoder. jp/contests/abs/tasks/abc081_b



4. ABC087B - Coins
ABC087B DRF@E*8

import Control.Monad
import qualified Data.ByteString.Char8 as BS
import Data.Maybe

readInt = fst . fromJust . BS.readInt
getInt = readInt <$> BS.getLine

main = do
[a, b, ¢, x] <- replicateM 4 getlInt
print . length $
[1 | i<-[0..a], j<-[0..b]l, k<-[0..c], 500*%i + 100%j + 50*k == x]

5. ABC083B - Some Sums
ABC083B DR

import Control.Monad
import Data.Maybe
import qualified Data.ByteString.Char8 as BS

readInt = fst . fromJust . BS.readInt
readIntlList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine

main = do
[n, a, bl <~ getIntlist
print $ sum [x | x <= [1..n], £ x >= a, f x <= b]
where £ 0 = 0
f x=2x ‘mod‘ 10 + £ (x ‘div‘ 10)

*8 https://atcoder. jp/contests/abs/tasks/abc087_b
*9 https://atcoder.jp/contests/abs/tasks/abc083_b



6. ABC088B - Card Game for Two
ABCO088B MDffE*10

import Control.Monad
import Data.List
import Data.Maybe

import qualified Data.ByteString.Char8 as BS

readInt = fst . fromJust . BS.readInt
readIntList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine

main = do
_ <- getlnt
as <- getIntlist
print $ sum $ zipWith (*) (cycle [1, -1]) (sortBy (flip compare) as)

sortBy (flip compare) as DEirik, (ZU M reverse $ sort as EHENTWAZDTTA, 95 & hlint
M, Treverse 3T &) FIMAEZRLU T NE L,

7. ABCO085B - Kagami Mochi
ABC085B 0@ !

import Control.Monad

import Data.Bits

import qualified Data.ByteString.Char8 as BS
import Data.List

import Data.Maybe

readInt = fst . fromJust . BS.readInt
getInt = readInt <$> BS.getLine

main = do

n <- getlnt

*10 nttps://atcoder. jp/contests/abs/tasks/abc088_b
*11 nttps://atcoder. jp/contests/abs/tasks/abc085_b



ds <- replicateM n getlnt
print . length . group . sort $ ds

8. ABC085C - Otoshidama
ABCO085C DfRE*12

import Control.Monad
import qualified Data.ByteString.Char8 as BS
import Data.Maybe

readInt = fst . fromJust . BS.readInt
readIntList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine

main = do
[n, y] <~ getIntList
let a = [map show [a, b, ¢] | a <~ [0..n], b <= [0..(n-3a)],
let ¢ = n-a-b, 10000*a + 5000%b + 1000*c == y]
if null a
then putStrln "-1 -1 -1"

else putStrln . unwords . head $ a

9. ABC049C - BHB% / Daydream
ABCO049C s

{-# LANGUAGE OverloadedStrings #-1}
import qualified Data.ByteString.Char8 as BS

main = do
s <- BS.getLine
putStrLln . solve $ BS.reverse s

where

*12 nttps://atcoder. jp/contests/abs/tasks/abc085_c
*13 nttps://atcoder. jp/contests/abs/tasks/arc065_a



solve s | s ==

| BS.reverse
| BS.reverse
| BS.reverse
| BS.reverse

| otherwise

"= "YES"
"dream" ‘BS.
"dreamer" ‘BS.
"erase" ‘BS.
"eraser" ‘BS.

= "NO"

10. ARCO89A - Traveling
ARCO89A D s*14

import

Control.Monad

isPrefix0f¢ s = solve $ BS.drop 5 s
$ BS.drop 7 s
$ BS.drop 5 s

$ BS.drop 6 s

isPrefix0f‘ s solve

isPrefix0f‘ s solve

isPrefix0f‘ s solve

import qualified Data.ByteString.Char8 as BS

import Data.Maybe

readInt = fst . fromJust . BS.readInt
readIntlList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine
main = do

n <- getlnt

xs <- replicateM

n getIntlList

putStrln $ if solve ([0, O, O]:xs) then "Yes" else "No"

where
solve [a, bl
solve (a:b:xs)
reachable [tO,
t >= dist &&

where dist

t t1

FRER

10 fHOREIEFNIL. WTHEENTO T I ABRDT, TNFNIIOVWTEL L

reachable a b

x0, yol [t1, x1, yi1]
(t - dist)
abs (x1 - x0) + abs
- t0

‘mod ¢

reachable a b && solve (b:xs)

2==0

(y1- y0O)
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*14 nttps://atcoder. jp/contests/abs/tasks/arc089_a
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{-# LANGUAGE OverloadedStrings #-}

import Control.Monad

import Data.Maybe

import qualified Data.ByteString.Char8 as BS

readInt = fst . fromJust . BS.readInt
readIntlList = map readInt . BS.words

getInt = readInt <$> BS.getLine
getIntList = readIntList <$> BS.getLine
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n <- getlnt
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[a, b] <- getIntList
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xs <- replicateM n getInt



10. ARCO89A - Traveling*!5 DEZEHIZH D & 512, replicateM m getIntList D& S IZF L, VAL
DYASERY ET,
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INETOHITIX, String WEVDTHEIDEXROHEL &S LW I 2R TE DI TEA, String
MEVEWS DX, EI ST List WEVLNSLAZDT, KEIZHAZLEGAEITIE Vector 25 NI TY,
PAFIE. ABC147D*16 o [a[%4 -

import Control.Monad

import Data.Array.I0

import Data.Bits

import qualified Data.ByteString.Char8 as BS
import Data.Char

import Data.Maybe

import qualified Data.Vector.Unboxed as V

import qualified Data.Vector.Unboxed.Mutable as VM

readInt = fst . fromJust . BS.readlInt
getInt = readInt <$> BS.getLine
getIntVec n = V.unfoldrN n (BS.readInt . BS.dropWhile isSpace) <$> BS.getLine

main = do
n <- getlnt

as <- getIntVec n

cs <- VM.new 61
VM.set cs (0::Int)

forM_ [0..n-1] $ \i -> do
let a=as V.! i
forM_ [0..60] $ \j —>
when (testBit a j) $ do
c <- VM.read cs j
VM.write cs j (c+1)

cs’ <- V.freeze cs

*15 nttps://uhideyuki.sakura.ne. jp/studs/index.cgi/ja/AbsInHaskell#p13
*16 https://atcoder. jp/contests/abc147/tasks/abc147_d



let calc i ¢ a = let cl = fromIntegral c :: Integer

c2

fromIntegral (n-c) :: Integer
in

cl * c2 x bit i + a

print $ V.ifoldr calc 0 cs’ ‘mod‘ 1000000007
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ifoldr Y \WHODE, FISEHIOTONNE U7z, fold BIEDENT, ZOBERISHINT DIHRAT i »ME
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Mutable & Vector 23» 4L, —ikit dp DI OK D TTH, AtCoder IZI1FZ T dp BHHHEL £,
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import Control.Exception (assert)
import Control.Monad

import qualified Control.Monad.ST as ST
import qualified Data.Array.IO as IO
import qualified Data.Array.ST as ST

import qualified Data.Array.Unboxed as A
import qualified Data.ByteString.Char8 as BS
import Data.List

import Data.Maybe

readInt = fst . fromJust . BS.readInt
readIntlList = map readInt . BS.words
getInt = readInt <$> BS.getLine
getIntlist = readIntList <$> BS.getLine

warshallFloyd :: A.UArray (Int, Int) Int -> A.UArray (Int, Int) Int

*17 https://atcoder. jp/contests/abc012/tasks/abc012_4



warshallFloyd iarr = oarr

where
1 = (fst . fst . A.bounds) iarr
1> = (snd . fst . A.bounds) iarr
r = (fst . snd . A.bounds) iarr
r’ = (snd . snd . A.bounds) iarr
oarr = assert (1==1’ && r==r’) $ ST.runSTUArray $ do

d <- ST.thaw iarr
forM_ [1..r] $ \k —>
forM_ [1..r] $ \i —>
forM_ [1..r] $ \j —> do
dik <- ST.readArray d (i,k)
dkj <- ST.readArray d (k,j)
dij <- ST.readArray d (i,j)
when (dik + dkj < dij) $
ST.writeArray d (i,j) (dik + dkj)

return d

main = do
let infty = 1076 :: Int
[n, m] <- getIntList

arr <- I0.newArray ((1,1),(n,n)) infty :: I0 (I0.I0UArray (Int, Int) Int)
forM_ [1..n] $ \i -> I0.writeArray arr (i,i) O
replicateM_ m $ do

[a, b, t] <- getIntlist

I0.writeArray arr (a, b) t

I0.writeArray arr (b, a) t

edges <- I0.freeze arr
let d = warshallFloyd edges

print $ minimum [maximum [d A.! (i, j) | j<-[1..n]] | i<-[1..n]]
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